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A)Y15 (B)20 C)25 D)30 E)40

14. (cslw)

B
m(BDC) = 120°
m(ABD)=m(DBC)=m(ACD)
m(DCB) = ?

A)30 B)0 CM5 D)50 E)60



35 uwgjgaldg> awais

15. (Lawwgio) 17. (o5kw)
A A D
e D — E : e 8 s
[AD] / [BC]
2.m(BAD)=3.m(ABC)=6.m(BCD)
m(BAD) = m(EAC) m(ADC) = ?
m(BAE)=70° A)108 B)124 C)136 D)140 E)144

m(ADC)=60°
m(ACE)=x = ?

A¥0 B)5 C)50 D)55 E)60

16.(colw) g 18. (ool
ABCD oy > N A
o
4
ABE #Mol gglucs cdie o>
D F C D
X
E
B« Cc
m(BAD) = m(CAD)
m(ADB)=m(CBD)
A B m(ADB)=120°
m(CFA)=x=? m(ACB) = ?
A)120 B)130 C)135 D)145 E)150 A)30 B)0 C)50 D)60 E)70

Qb bli)l 45 @yosquiz_admin ol S (01 b b 9 AuS aelye hitps://yosquiz.com/shop (sl a3 JolS auws 33,5 g
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19. (lawgio)

B C D
m(ABE) = m(CBE)
m(ACE)=m(DCE)

|AB|=|AE|
m(AEC)=70°
m(EAC) = ?
A)30 BMO0 C)45 D)50 E)60
20.(eolw)
A
B —AC
202 D

m(BAE) = m(CAE)
m(BCE)=m(DCE)
m(ABC) = ?
A)20 B)25 C)30 D)35 E)M0

Qi bLs)l ,> @yosquiz_admin ol S (63T b b g 3uS av=lye hitps://yosquiz.com/shop uydT a3 JolS aduuws 33,5 g2

yosquiz.com

21, (coew)

|AB| L|AC|
[BD|=DCi=|AE]
m(ACB)=30°
m(AED) = ?

A)60

22, (o gio)

|AB| L |AC|
|AE|LIED|
IBD|</DC|=2,DE|
m(ACB)=10°
m(EAC) = ?

A)10

pe9 Jol had pSTellaw 36

(S Jog D & A 1 o losaly)

C)70 D)75 E)80

D)25 E)30
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23. (L gio)

20

B H D c
m.(BAD) = m(DAC)
[AH]L[BC]
m(ABC)=2.m(ACB)
m(HAD)=20°
m(ACB) = ?
A)Y15 B)20 C)25 D)30 EM0

24, (s5lw)

(>

A 4

m(BAC) = 50°
m(BDC)=2.m(ABD)

m(ACE)_3
m(B/DE) 2

m(ACB) = ?

A)25 B)30 C)35 D)40 E)50

yosquiz.com

Yos@uiz

25.(colw)

dq /7 dg
m(EAB)=50°
m(BCF)=100°
m(ABC) = ?
A)30 B)0 ~C)50 D)60 E)70

26. (lwgio)

m(DAB) = 50°
m@BDC)=x = ?
A)25 B)30 C)35 D)0 E)50

27.(0olw)

e S c
|AB| = |BD| = |DE| = |EC]|
m(ABC)=80°
m(ACB) = ?
A)15 B)20 C)25 D)30 E)40

Qb bli)l 45 @yosquiz_admin ol S (01 b b 9 AuS aelye hitps://yosquiz.com/shop (sl a3 JolS auws 33,5 g
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28. (colw)

w

Al
|AB| =|BC| =|DC| =|AD|
|AB=|AE=AB]
m(AFB) =x = ?
A)65 B)70 C)75 D)80 E)85

29. (oolw)

|AB| = |AC|
|CD|=[CB|
m(ACD)=24°
m(BAC) = ?

A)32 B)36 C)40 D)42 E)44

Qi bLs)l ,> @yosquiz_admin ol S (63T b b g 3uS av=lye hitps://yosquiz.com/shop uydT a3 JolS aduuws 33,5 g2
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30. (lawgso)

42

|AB| =|AD|
m(BAD)=m(DAC)
m(ACB)=42°
m(BAC) = ?
A)44 B)p4 ©)66 D)70 E)72

31. (e0lw)
A K -
C

B 5 »d,
dq /dy
|BC|=/BD|
m(BDC)=2.m(ABC)
m(BAK) = ?

A)108 B)110 C)112 D)114 E)116
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32. (L gio)

<
+

v

>4
w
O

m(EBD) = m(DBC)
m(ABE)=40°24'36"

m(EBD) = ?
A)BO° 47 42"  B)68° 47' 42"  C)B7° 47 42"

D)66° 47 42"  E)B5° 47 42"

33. (eolw)
A
E
20°

D B c
|AB| = |AC|
DELAC
m(EDC)=20°
m(BAC) = ?

A)30 B)40 C)45. D)50 E)70
34. (eolw)

A
D
15°

B C
|AB| =|AC| =(BD|
m(DBC)=15°
m(ABD) = ?

A)30 B)35 C)40 D)5 E)50

yosquiz.com

Yos@uiz

35. (colw)

AF //ED
m(CBD)=m(DBF)
ICA|=CB
m(BDE)=65°
m(BCE) = ?

A)90  B)100° C)110 D)120 E)130

36.(c8lw)

m(BAC) = 50°
IDE[=[DB|
m(ACB) = ?
A)25 B)30 C)35 D)0 E)M5

37. (awgin)

A)90 B)100 C)105 D)110 E)120

Qb bli)l 45 @yosquiz_admin ol S (01 b b 9 AuS aelye hitps://yosquiz.com/shop (sl a3 JolS auws 33,5 g
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38. (csw)
(43S oy AD (55130 (a3 C Ly 311 local)
D 4 c
6
A B

[DC] / [AB]

|DCl=4

IBC|=6

2.m(DAB)+m(ABC)=180°

|AB| = ?
A8 B)9 C)10 D)12 E)15
39. (eolw)
B
50
110°,
E A X
¢ b
[AE] // [CD]
m(ABC)=50°
m(BAE)=110°
m(BCD) = ?
A)100 B)105 C)110 D)115 E)120

yosquiz.com

pgo 9 gl Jad yoTllaw 40

40. (eolw)

DE // FK
m(ADE)=50°
m(ABC)=120°

m(CFK) = ?

A)0 B)50 C)60 D)70 E)80
4]. (fawgio)

A
D
O
B — n

IBD| = |BE|
m(EDC)=30°
m(BAC) = ?

A)0 B)50 C)60 D)70 E)80

Qi bLs)l ,> @yosquiz_admin ol S (63T b b g 3uS av=lye hitps://yosquiz.com/shop uydT a3 JolS aduuws 33,5 g2
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42. (solw)

30°

|AB| = |AC]|
|AD|=|AE|
m(EDC)=30°
m(BAD) = ?

A)30 B)MO C)50 D)60 E)70

43. (colw)

IDH| L |BC|
[BH| =[HC|
|AE| =[AC|
m(ECB) = 20°
m(ACD) = ?

A)20 B)30 C)40 D)50 E)60

Qb bli)l 45 @yosquiz_admin ol S (01 b b 9 AuS aelye hitps://yosquiz.com/shop (sl a3 JolS auws 33,5 g
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44 (s gin)

40°

B< D c
m(ABC) = m(ACE)
m(ECB) = 40°
m(DEC) = ?

A)30 B)0 €)50 D)s0 E)70

45 _(oslw)

g c
m(ABC) = m(ACD)
m(DCE),m(ECB)
m(ACE)=50°
m(AEC) = ?

A¥0 B)50 C)60 D)70 E)80
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1093 Juad J51s sl JUio suls

1 2 3 4 5 6
A D A C C A
7 8 9 10 1 12
D A E E C B
13 14 15 16 17 18
E E C D B C
19 20 21 22 | 23 | 24
C C E A D B
25 26 27 28 29 30
A E A B E D
31
B

yosquiz.com

pgo 9 gl Jad yoTollow 42

1093 9 Jgl Jsad 5T wllgaw 3.lS

[ 2 | 3 ] 4 ] 5 [ 6
C T E[TAT B [ DA
7 | 8 | 9 [ 10 | n |12
E | A [ ¢ D D
13 | 14 | 15 | 16 | 17 | 18
B | C | 'c | A1 DD
19 | 20 | 21 | 22 | 23 | 24
B | E | D | ¢ | E [B
25 | 26 | 27 _|° 29 | 30
c | o[ ¢l cl ET®
31 |32 733 T34 | 35 | 36
A A Bl C B B
37 [ 38 | a0 | 4| a2
D | COLE | D | c | D
43 | 44 | 45
C |\E B
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